
�	��!>

                                                                                 ?
�	

�����)            (10)
�����������           (12)
����������������/�           (14)
���������%���!�           (17)
���������%���!������/� (18)
����7
1. ���L�

���L������T7!�      1
��/��!����      2
1. ������������      2
2. �!� �NS���
�      4
3. �����������L���)�	��0
�����
�������!�0�-	!
����!�������������    23
4. ����/
&�����L�2"��������    25
5. ���������-���./�����!��	
���
�������������������������    31
6. !0
"�-�
�	��/	���7�"�����2����d.��*T4!�0	
������    37
7. ���%����
��0
������%������������	�����%	�7���%	��0
���
    �!��	
���
��2���"/.�������M����8��	
���
��    42

2. /���0 !0%��
� �	�/
&����    47
3. �	�	�/
���
��	�����	!�

1. �0
�����
����������	������!���������������    59
2. ���/���7�"�����2����������������������/��4L�    61
3. �%���������/
&�����L�2"���������!��������������������    70
4. ���������-���./�����!������������������������    71
5. !0
"�-�
�	��/	���7�"�����2�����	
������������������������    76
6. ����%	�7���%	��0
����!��	
���
�������������������������
    ����0�/����/2���"/.�������M����8�     81

(10)



�	��!> (=#�)

                                                                                 ?
�	

4. ��0%�	�����	!�    97
��!���!���  101
�!����!���!
�  102
�����/�

� ���/
�����"��0
�����
������� ������ �0
�����
�������!�0�-	!
���
   �	��0	
������ 115
� ������/������!��4L��	��/�����N!�!��4L�  127
 � ���+6�8�"�!0
"�-�
�	��/	���7�"�����2�����	
�������������
    ���������������0�/����/�����!��N�S� 129
� ���%����
��0
������%����������� 132
� �	���/
�����"��/���%�%�/�����s
�
 133
3 ����L��/
����0�����	
��	
���
������������������������� 159
 * �0
�����
�������!�0�-	!
����!��	
���
�������������������������
 ��"/.�������M����8���7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ���
 0, 15, 30, 45 �	� 60 /��  169

S �	���/
�����"�%�
��
/
���
��!�	�/
���
�!��.!����d.��*T4!�0	
������ 172
%��/��
�-������  173

(12)(11)



�	��	�=	�	B

=	�	B��� ?
�	

1 �0
�.����!�"���!��������������� 100.0 ����      3
2 �0
�����
��������!�������������      4
3 �!� �NS���
�
�2�����	��	N�����*�
�      9
4 �!� �NS���
���7��2��	N��    10
5 ����%	�7���%	��!��.��/����/�	T7��!�����-��	T�����-��0�

�	��3����!��!� �NS���
���7�.����!**./��.���    16
6 �������������������������7�-���./�����.���    55
7 ��!�	��!��	�	
����������������	��������������"��    59
8 �0
�����
����������	������!��4L���4������������������    60
9 �0
�����
�!������������������������7N��������������������������

��/��4L�2�!�����./��.��� ��� ��7!0
"�-�
 60.00S 60 ����    66
10 �0
�����
�!���������������������"����7N�������������������������"��

��/��4L�2�!�����./��.��� ��� ��7!0
"�-�
 60.00S 60 ����    67
11 �0
�����
�!������������������������7N��������������7!0
"�-�


�	������/	�2������������.�����    68
12 �0
�����
�!���������������������"����7N��������������7!0
"�-�


�	������/	�2������������.�����    69
13 �0
�����
�!����������������������������� ��2*����/��0))���+

�	��������+%��
    73
14 �0
�����
�!���������������������"��������� ��2*����/��0))���+

�	��������+%��
    74
15 ���%����
��0
������%������������!��	
���
��������������

�������������7�-���./�����.���    75
16 �0
�����
��������!��	
���
�������������������������

�.!���������!N�S�    77
17 !0
"�-�
�	��/	�2�����/����d.��*T4!�0	
������2�����	
������������������������    78

(12)



�	��	�=	�	B (=#�)

=	�	B��� ?
�	

18 %�
��
/
���
��!�	�!��!��	
���
��������������������������.!� 
�	�"	����������!N�S�    79

19 ���!*�!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ��� 0, 15, 30, 15 �	� 60 /��    82

20 %�
��
�����4�"�� (��!�	��!������	
�) �!��	
���
��������������
�������������"/.�������M����8���7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ���
0, 15, 30, 45 �	� 60 /��    83

21 %�
��
�!���M���7	�	��N����4�"�� (0��
�S�) �!��	
���
��������������
�������������"/.�������M����8���7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ���
0, 15, 30, 45 �	� 60 /��                                                                                              85

22 ���%����
��0
������%������������!��	
���
��������������
�������������"/.�������M����8���7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S    
��� 0, 30 �	� 60 /��    96

(13)



�	��	�=	�	BC	��
��

=	�	BC	��
����� ?
�	

� 4-1 ����.��*T4!��T7!2*� acid broth �	� malt extract broth �L�"���!�"��
%�������� (���!* 4.6)  124

� 4-2 �������*T4!2"���
�0�&
��L�"���!�"��%�������� (���!* 4.6)  125
�-1 ���/����+6�8�!0
"�-�
�	��/	���7�"�����2�����/�����	
�

�����������������������  129
�-1 ���/
�����"��/���%�%�/��!��0
�����
�!����������������������

��7������/��4L�2�!�����./��.��� ��� ��7!0
"�-�
 60.00S 60 ����  133
�-2 ���/
�����"��/���%�%�/��!��0
�����
�!���������������������"��

��7������/��4L�2�!�����./��.��� ��� ��7!0
"�-�
 60.00S 60 ����  135
�-3 ���/
�����"��/���%�%�/��!��0
�����
�!����������������������

��7!0
"�-�
�	������/	�2������������.�����  137
�-4 ���/
�����"��/���%�%�/��!��0
�����
�!���������������������"��

��7!0
"�-�
�	������/	�2������������.�����  139
�-5 ���/
�����"��/���%�%�/��!��0
�����
�!����������������������

������� ��2*����/��0))���+�	��������+%��
  141
�-6 ���/
�����"��/���%�%�/��!��0
�����
�!���������������������"��

������� ��2*����/��0))���+�	��������+%��
  142
�-7 ���/
�����"��/���%�%�/��!����%����
��0
������%�����

�������0
	��8
��������!��	
���
���������������������������7
�-���./�����.���  143

�-8 ���/
�����"��/���%�%�/��!����%����
��0
������%�����
�������0
	��8
������/��"/���!��	
���
�������������������������
��7�-���./�����.���  144

�-9 ���/
�����"��/���%�%�/��!����%����
��0
������%�����
�������0
	��8
������/���%��4�/�!��	
���
�������������������������
��7�-���./�����.���  145

(14)



�	��	�=	�	BC	��
�� (=#�)

=	�	BC	��
����� ?
�	

�-10 ���/
�����"��/���%�%�/��!����%����
��0
������%�����
�������0
	��8
������/���-��6����2�%���!��	
���
��������������
�������������7�-���./�����.���  146

�-11 ���/
�����"��/���%�%�/��!����%����
��0
������%�����
�������0
	��8
���������!���� ���/��!��	
���
��������������
�������������7�-���./�����.���  147

�-12 ���/
�����"��/���%�%�/����!*�!��	
���
������������������
���������"/.�������M����8���7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S
�%5��/	� 0, 15, 30, 45 �	� 60 /��  148

�-13 ���/
�����"��/���%�%�/�%�
��
�����4�"�� (��!�	��!������	
�)
�!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S �%5��/	� 0, 15, 30, 45 �	� 60 /��  149

�-14 ���/
�����"��/���%�%�/�%�
��
�!���M���7	�	��N����4�"��
(0��
�S�)�!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S �%5��/	� 0, 15, 30, 45 �	� 60 /��  150

�-15 ���/
�����"��/���%�%�/��!�%�
��
�!� �NS���
���4�"��
(��./	
��) �!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S �%5��/	� 0, 15, 30, 45 �	� 60 /��  151

�-16 ���/
�����"��/���%�%�/��!�%�
��
���%���!�WX�!	��4�"��
2��-%�����		
� (��./����) �!��	
���
���������������������������"/.�����
��M����8���7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S �%5��/	� 0, 15, 30, 45 �	� 60 /��  152

�-17 ���/
�����"��/���%�%�/��!� EC50 (N� ������/�	.)
�!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S �%5��/	� 0, 15, 30, 45 �	� 60 /��  153

�-18 ���/
�����"��/���%�%�/��!��0
	��8
��������!��	
���
��
�������������������������"/.�������M����8���7!0
"�-�
 4.0±1.00S
�	� 27.0±1.00S ��� 0, 30 �	� 60 /��                                     154

(15)



�	��	�=	�	BC	��
�� (=#�)

=	�	BC	��
����� ?
�	

�-19 ���/
�����"��/���%�%�/��!��0
	��8
������/��"/��
�!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ��� 0, 30 �	� 60 /��  155

�-20 ���/
�����"��/���%�%�/��!��0
	��8
������/���%��4�/
�!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ��� 0, 30 �	� 60 /��  156

�-21 ���/
�����"��/���%�%�/��!��0
	��8
������/���-��6����2�%��
�!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S  ��� 0, 30 �	� 60 /��  157

�-22 ���/
�����"��/���%�%�/��!��0
	��8
������0
	��8
�
��������!���� ���/��!��	
���
���������������������������"/.�����
��M����8���7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ��� 0, 30 �	� 60 /��               158

3-1 �L�	��NWW��2���.	���4��!��!�����	
������������������������  165
3-2 ����L��/
����0�����	
��	
���
�������������������������  168
*-1 %�
��
�!� �NS���
���4�"��2��-%NS���
�
� 3-�	- �NS�� (��./	
�� ������������

�����������) �!��	
���
���������������������������"/.�������M����8���7!0
"�-�

4.0±1.00S �	� 27.0±1.00S ��� 0, 15, 30, 45 �	� 60 /��        169

*-2 %�
��
���%���!�WX�!	��4�"�� 2��-%�����		
� (��./�������������
��������������) �!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ��� 0, 15, 30, 45 �	� 60 /��  170

*-3 EC50 (N� ������/�	.) �!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ��� 0, 15, 30, 45 �	� 60 /��  171

  

(16)



�	��	�C	�������

C	���� ?
�	

1  ���������T4�1���!��!� �NS���
�
�      5
2  ���������!� 3,5,7-N��N���!�S�W	�/
�	����	!N���      6
3  ���������T4�1���!��!� �NS���
�      7
4 �-�� ���������!��!� �NS���
�
��L��/� 6 *�
� ��7���.!�2��T*      8
5 �	�!�"�-.N���!�S
	 (-OH) �	�"�-.���!�S
	 (-OCH3) ��7���	�.!���!�

�!� �NS���
�    13
6 ����%	�7���%	� ���������!���	/
�
� 3-�	- �NS����7������.����!*�.���    14
7 ����-��	T�����!�NS���
�
� 3-��� ��	- �NS����7�/����/�	T7�2�*./� 350-550

�� ����� 2����	�	����W�W!����7������.����!* 0.71, 2.53, 3.31, 3.70 �	� 4.02    15
8 �.�����-��	T�����!��4L�������!����7��7�/����/�	T7� 530 �� �����2����	�	��

��W�W!����7������.����!*��4���. 0.50 � 5.00    15
9 �	N��������!�0�-	!
����!� ��������W	� /�!�����7/��"/� B    22
10 ���T7!�d.��*T4!��� steam water spray automated batch             49
11 ���������������������!��"��    50
12 ����.��.���/����!��!��	
���
���������������������������"/.������/����

�����!N��S*�7�    80
13 �	
���
�������������������������    80
14 %�
��
�!� �NS���
���4�"��2��-%NS���
�
� 3-�	- �NS�� (��./	
�� ������������

�����������) �!��	
���
���������������������������"/.�������M����8���7!0
"�-�

4.0±1.00S �	� 27.0±1.00S ��� 0, 15, 30, 45 �	� 60 /��    88

15 %�
��
���%���!�WX�!	��4�"�� 2��-%�����		
� (��./�������������
��������������) �!��	
���
���������������������������"/.�������M����8���7!0
"�-�
 4.0±
1.00S �	� 27.0±1.00S ��� 0, 15, 30, 45 �	� 60 /��                                                       90

16 EC50 (N� ������/�	.) �!��	
���
���������������������������"/.�������M����8�
��7!0
"�-�
 4.0±1.00S �	� 27.0±1.00S ��� 0, 15, 30, 45 �	� 60 /��                                      93

(17)



�	��	�C	�������C	��
��

�	��	�C	�������C	��
����� ?
�	

�-1 ������/������!��4L�  127
�-2 �/�����N!�!��4L�  128

(18)


